EARAROBEEIERT — 2 N— IBISH —F

20135118108 (B) 17E£R1H

KW >%—# C46 ESRE R
[AE4£] 1% :160,000  ~ 2#&:32,000 ™  37%&:14,000” . 43%&:11,000 " 57 :6,000
B BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
¢ —p = REFE :33. -3-1- . — EHHE (£R)
1l8l10 INTF 27 4 3 g 1(3_3)0 3-3-1-1 | 40.5 1 422)3 rfikecd
R:v2RUZYZRIZX B:TLFy b (B) A -FRL—-ya>aEI7r
Vo =ss SUEE : —1-1- — SiEEE (£R)
ol7l 7| 7B FTENL LI A e B ? ?—3;) FEB
R:TIRAFIEI B:RRAULTIL—F EvJlLy RIT7—L
o R . 11158834 . —9-7- - MREpseME (£R)
3 3| T-FHvFre > 3 s 1.(3;;.7 10-9-7-5 | 39.5 3 <4+271) i
R:2RUZYZXIZX B:Ev71)NO BROLE DB S
RS- 4 3 | FHE— 1:34.2 7-6-6-7 | 40.6 | — 5 537 | KEZ (£R)
4 2 Ty EUT 56.0 (2 1/2) (+9) ﬁﬁ;ﬁ—ﬁﬂl
Z:707% B:XRETELY Y Y ESazie]
N N MFEBE : —-0-3- - SEHE_— (£R)
slglo|ror7rys w8 [ S IR YE [ Bime
LTITRAFIEIIN Bz hLhF¥ vy b FRE%S
= KEH :34. ~4-4- . - EHE (&R
N NEERER: LI fiesi R ’ (4433) e
L:7F%tx B1VURAYZRY1—7 J—REINZXTRT AN
- PP . 45 — FIEH (&R
il ey ox—a o4 e 1.(3;).8 4-4-5-5 | 41.4 6 (ii) ﬁ(ﬁ) TEn
XL THANAIN BT AYH—F Sz e ]
Q St RIHHETE : -10-8 - - IEEFE (£iR)
8 6|77/ A—IN=N7j ad 54.0 1(/731‘:) 91088 | 40.2 (4_232) i#%)ﬁ ’
R:8Z/F¥LLy b BIIUEEZ RS ITRILIETIAL b
S 3 | RiEpEE 1:36.1 6-7-10-10 | 41.3| — 8 458 | REBS (£9R)
978 | FIVIAF LY % 540 ® +2) W) Tr-z eI
RFLTHANAN BiEa—<hHTx HET77— L
o N EHFIBA R :37. -8-9- . = £H—& (£R)
10055 NEXZT 4y 3 6 1(347)0 8-8-9-9 | 42.1 7 (4+327) e
LY LTAN—t B:JO—NILhH—FK A AKX
® 1 — @B
1T=7r= 7,9,10,1,4,8,2,5,6,3
23—+— |(7,9,10,(1,4),2,8,5,3,6
== (7,10),9,4,1,2,3,6,5,8
AT =5F= (7,10),9,4,(1,3),2,6,5,8
[ /N
B 10 150 714K 7-10 110H e E 7-8 170M JEE 3-7-10 370
B B 10 1004 3-10 200M e B 8-7 190H JEE 10-7-3 710
7 1004 3-7 310M B & 7-10 190H
8 110 B H 10-7 190

ABICOVWTRDTEEERROODE. TR LIV,




